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t E T |k 0.006 0.004 0.004 0.002 0.002 0.002
+ E & E=1ES 0.005 0.005 0.002 0.002 0.002 0.002
21N /N P WlET 0.009 0.007 0.006 0.007 0.007 0.006 0.005 0.003 0.002 0.002
mE WX B OFHE 0.007 0.007 0.007 0.007 0.006 0.003 0.003 0.003 0.002 0.002
D) s 1 11 o RE 0.010 0.009 0.007 0.008 0.007
B e M |7 0.010 0.009 0.007 0.007 0.007 0.005
B W W Blx 0.007 0.007 0.005 0.006 0.003 0.003
=T ] PN = RE 0.009 0.009 0.006 0.007 0.007 0.007 0.006 0.003 0.003 0.003
B W s NES 0.012 0.013 0.013 0.010 0.011 0.010 0.008 0.005 0.004 0.004
B £ TR E 0.014 0.015 0.013 0.012 0.008 0.006 0.006 0.006 0.004 0.004
EOVE BET)E = RES 0.006 0.007 0.005 0.005 0.005 0.006
N # BTN #(1E 0.008 0.007 0.006 0.007 0.006 0.007
HEE TS I=HES 0.006 0.006 0.005 0.006 0.006 0.004
o BE BT Blx 0.006 0.006 0.004 0.003 0.003 0.003




Q) ZEALER (FTHIE)

—-— A 2o £ F B & (ppm)
teh | s 1o | R a4 e | R 14 B | T 54 | TR o4 | R A e | E R 8 e | 1 948 | 204 | A2 1 E

£ R W= ElE 0.009 0.009 0.011 0.010 0.008 0.008 0.009 0.008 0.008 0.007
& R W& m WME 0.017 0.017 0.019 0.019 0.017 0.014 0.016 0.014 0.012 0.010
& R W/ I FHE 0.011 0.010 0.010 0.010 0.010 0.010 0.010 0.009 0.008 0.007
& R | ®=[E 0.016 0.017 0.017 0.016 0.013 0.012 0.012 0.010 0.010 0.009
£ R m|ER Fiic] RS 0.018 0.016 0.016 0.016 0.016 0.015 0.015 0.013 0.012 0.011
& R H|#@E B[4 0.015 0.013 0.012 0.013 0.012 0.011 0.012 0.011 0.010 0.009
£ R it B[4 0.009 0.010 0.010 0.010 0.010 0.010 0.009 0.008 0.007 0.007
t B |t B 0.009 0.009 0.009 0.008 0.007 0.007 0.007 0.007 0.007 0.006
+ E w|XK =1ES 0.004 0.004 0.004 0.004 0.004 0.004
t E W|HE B E[X 0.003 0.003 0.003 0.004 0.004 0.003
t E mWlaE & B|X 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002
t B m|&| W5 | 4E 0.006 0.005 0.006 0.006 0.006 0.005 0.004 0.004 0.004 0.004
t E T |k 0.002 0.002 0.002 0.002
t E mi|fE H|% 0.004 0.004 0.004 0.004
PN /N P wl#ET 0.013 0.013 0.015 0.013 0.013 0.012 0.010 0.009 0.008 0.008
mE WX B OFE 0.014 0.014 0.014 0.014 0.014 0.013 0.013 0.012 0.011 0.010
D) s 1 11 KE 0.013 0.013 0.013 0.013
B e M ME| 7S 0.006 0.006 0.006 0.007 0.006 0.005 0.005 0.005 0.004 0.004
=TT T Blx 0.008 0.008 0.009 0.009 0.009 0.008
B W e LS 0.014 0.014 0.014 0.015 0.013 0.013 0.013 0.012 0.010 0.009
B W s MES 0.014 0.013 0.013 0.014 0014 0.012 0.013 0.010 0.008 0.008
B £ TR L[ 0.012 0.012 0.013 0.012 0.011 0.010 0.010 0.009 0.008 0.008
b= v P (£ 0.011 0.011 0.011 0.011 0.011 0.010 0.011 0.009 0.008 0.007
M # AN #[1E 0.012 0.012 0.012 0.012 0.011 0.009 0.010 0.009 0.009 0.008
HEE TS I=ES 0.005 0.004 0.005 0.005 0.004 0.005
o BE B AT R Blx 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002

4) ZBIEEZE (1 HEHEDERISWIE) (GREEAE - 0. 04ppm~0. 06ppmLATF)

. AR A& 1B FHEDERHIS%IE (ppm)

sl [ Epiog | TRt | Eas | Taisa | Tries | Eaa | Eris e | TRioE | TRoE | TR £

£ R M= Bl 0.019 0.019 0.021 0.022 0.018 0.018 0.020 0.016 0.016 0.014
& R Wm|@E m WME 0.032 0.034 0.034 0.036 0.032 0.028 0.032 0.028 0.023 0.022
€ R W/ I FlE 0.020 0.020 0.018 0.019 0.021 0.022 0.025 0.019 0.019 0.014
& R | ®=[{E 0.032 0.031 0.032 0.030 0.025 0.023 0.022 0.020 0.019 0.018
£ R &R Fiic] RS 0.031 0.029 0.026 0.029 0.029 0.029 0.027 0.025 0.023 0.022
£ R W& B1E 0.032 0.027 0.025 0.031 0.029 0.029 0.029 0.026 0.024 0.022
£ R i B1E 0.019 0.019 0.019 0.020 0.020 0.023 0.020 0.016 0.016 0.016
t B |t B 0.018 0.020 0.020 0.019 0.016 0.016 0.015 0.014 0.015 0.014
+ E w|XK =1ES 0.009 0.009 0.008 0.009 0.009 0.010
t E W|HE B E[X 0.008 0.007 0.011 0.009 0.010 0.009
t E mWlaE & BlX 0.007 0.007 0.007 0.006 0.006 0.005 0.005 0.005 0.005 0.004
t E || 721 FE 0.016 0.015 0.016 0.016 0.015 0.014 0.010 0.010 0.011 0.009
t E T |k 0.005 0.004 0.005 0.005
t B mi|fE H|% 0.010 0.011 0.012 0.011
AN /NG R WET 0.026 0.031 0.029 0.026 0.027 0.028 0.020 0.020 0.017 0.017
mE WX B OFE 0.024 0.023 0.025 0.023 0.023 0.024 0.025 0.022 0.020 0.020
n & wl KE 0.022 0.022 0.022 0.021
PRI PP M| 0.014 0.015 0.013 0.015 0.013 0.010 0.011 0.010 0.009 0.008
B W il Bl*x 0.019 0.016 0.019 0.020 0.018 0.017
B W I F|1E 0.028 0.025 0.026 0.030 0.026 0.027 0.024 0.023 0.021 0.019
B W s MES 0.026 0.023 0.023 0.026 0.026 0.023 0.024 0.021 0.017 0.017
B £ TR L[ 0.024 0.025 0.026 0.023 0.023 0.021 0.021 0.021 0.019 0.018
b= v P = RES 0.021 0.021 0.022 0.022 0.022 0.022 0.022 0.020 0.016 0.015
M # AN #(1E 0.027 0.028 0.029 0.029 0.027 0.024 0.025 0.021 0.021 0.020
HEEEET| S Bl*x 0.013 0.011 0.016 0.014 0.011 0.013
o BE BT Blx 0.009 0.007 0.007 0.007 0.007 0.007 0.007 0.006 0.005 0.005




() —FLER (FTHIE)

—-— A Jze £ F B & (ppm)
sl [ Epiog | Rt | Emas | Taisa | Tries | TaaE| Eris ek | TaioE | TRoos | TR £

£ R W= ElE 0.003 0.003 0.003 0.004 0.003 0.002 0.003 0.001 0.001 0.001
& R Wm|@E m WME 0.009 0.009 0.008 0.009 0.007 0.006 0.007 0.007 0.005 0.005
& R W/ I FHE 0.002 0.002 0.002 0.002 0.003 0.003 0.003 0.002 0.002 0.001
& R | ®=[{E 0.005 0.005 0.004 0.004 0.002 0.002 0.001 0.001 0.001 0.001
£ R ™[R m|E 0.006 0.004 0.003 0.004 0.004 0.004 0.004 0.003 0.003 0.002
& R |#@E B[4 0.007 0.003 0.003 0.004 0.005 0.004 0.004 0.003 0.003 0.002
£ R it B[4 0.003 0.003 0.002 0.003 0.003 0.003 0.002 0.002 0.002 0.002
+ E |t BE 0.006 0.007 0.006 0.006 0.004 0.003 0.003 0.003 0.003 0.003
+ E w|XK =1ES 0.001 0.001 0.001 0.001 0.001 0.001
t E W|HE B E[X 0.002 0.002 0.002 0.002 0.002 0.001
+t E il & B|X 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t E m|&| 721 FE 0.003 0.003 0.003 0.003 0.003 0.002 0.001 0.001 0.001 0.001
t E T | 0.001 0.001 0.001 0.000
t B mi|fE H|% 0.002 0.002 0.002 0.002
PN N P WlET 0.009 0.008 0.007 0.006 0.006 0.005 0.003 0.002 0.002 0.002
m B WX B OFHE 0.010 0.009 0.009 0.009 0.007 0.007 0.009 0.007 0.006 0.005
D) s 1 11 o RE 0.006 0.006 0.006 0.006
PRI PP M| 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.000
B W Blx 0.003 0.003 0.003 0.003 0.002 0.002
B W F[E 0.004 0.004 0.004 0.005 0.004 0.003 0.003 0.003 0.003 0.003
B W s NES 0.004 0.003 0.003 0.004 0.005 0.004 0.004 0.002 0.002 0.002
B £ TR E 0.005 0.005 0.006 0.004 0.003 0.002 0.003 0.002 0.002 0.002
b= vl P & [1E 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.001
M # AN #[1E 0.008 0.006 0.004 0.005 0.004 0.003 0.002 0.001 0.002 0.001
HEEEET| S IHES 0.002 0.003 0.002 0.002 0.001 0.001
o BE B AT R S1ES 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000

(6) ZXRERILY (FFEHIE)

—-— A Jze g F B & (ppm)

wlsl [ E o | Rt | Emas k| Taisa | Tries | TaaE| Eris e | TRioE | TRooE | TR £

£ R W= ElE 0.012 0.012 0.014 0.014 0.011 0.010 0.011 0.009 0.009 0.008
& R Wm|@E m WME 0.026 0.027 0.027 0.028 0.024 0.020 0.024 0.021 0.017 0.015
& R W/ I FHE 0.013 0.012 0.011 0.012 0.013 0.013 0.013 0.011 0.009 0.008
& R | ®=[{E 0.021 0.021 0.021 0.021 0.015 0.014 0.013 0.012 0.011 0.010
£ R &R Fiic] RS 0.023 0.020 0.019 0.019 0.020 0.019 0.019 0.016 0.015 0.013
& R W|#@E B[4 0.021 0.016 0.015 0.017 0.018 0.016 0.016 0.014 0.013 0.011
£ R i B1E 0.012 0.012 0.012 0.013 0.014 0.013 0.012 0.010 0.009 0.009
+ E |t B 0.015 0.015 0.015 0.015 0.011 0.010 0.011 0.010 0.010 0.009
+ E w|XK =1ES 0.004 0.005 0.005 0.005 0.005 0.004
t E W|HE B E[X 0.005 0.005 0.005 0.005 0.005 0.005
t E mWlgE & BlX 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002
t E || W5 | 4E 0.009 0.008 0.009 0.009 0.009 0.007 0.006 0.005 0.006 0.004
t E T |k 0.003 0.003 0.003 0.003
t E mi|fE H|% 0.006 0.006 0.006 0.007
I\ N P wl#ET 0.022 0.021 0.022 0.019 0.019 0.017 0.013 0.011 0.010 0.009
mE WX B OFE 0.024 0.023 0.023 0.023 0.021 0.020 0.023 0.019 0.017 0.016
D) s 1 11 o RE 0.020 0.020 0.018 0.018
B e M |7 0.009 0.008 0.008 0.009 0.007 0.006 0.006 0.005 0.005 0.004
=TT o 11 BE|*x 0.012 0.011 0.012 0.012 0.011 0.010
=T ] PN £[1E 0.018 0.018 0.018 0.020 0.017 0.016 0.017 0.015 0.013 0.012
B W s MES 0.017 0.016 0.016 0.018 0.019 0.016 0.016 0.012 0.011 0.009
B £ TR L[ 0.017 0.017 0.019 0.015 0.014 0.012 0.013 0.011 0.010 0.010
b= v P & [1E 0.014 0.014 0.014 0.014 0.014 0.013 0.013 0.011 0.009 0.008
M # AN #(1E 0.019 0.018 0.016 0.017 0.015 0.013 0.013 0.010 0.011 0.009
HEE TS I=HES 0.007 0.008 0.007 0.008 0.005 0.006
o BE BT Blx 0.005 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.002




(1) —EfbRE (FFHE)

HET BB A& g F B & (ppm)
sl (E o | Rt | Emas k| Taisa | Tries | EaaE| Eris e | TaioE | TRooE | TR £
& R W= B|1E 0.4 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2
®) —Fibm®z (1 BEHEDER 2 %BRME) (BBEE . 10ppmil )
- TS Ag 1B FHEDER2%FRME (ppm)
sl [ Eppiog | Eaisa | Emas | Taisa | Tries | TaaE| Eris e | TRioE | TRooE | TR £
& R W= B|1E 0.7 0.5 0.5 0.5 0.5 05 0.5 04 04 04
9) HeZAX A b (RED 1 BREEQEFEHE)
. B 2o BEO1BEEDEFYME (opm)
sl [ E o | Rt | ERas k| Taisa | Tries | EaaE| Eris e | TRioE | TRoos | TR £
€ R W= BlE 0.034 0.039 0.042 0.039 0.042 0.036 0.037 0.039 0.036 0.037
& R Wm|@E m WME 0.029 0.027 0.029 0.030 0.026 0.027 0.034 0.035 0.034 0.036
£ R W/ I FlE 0.031 0.031 0.032 0.029 0.026 0.025 0.032 0.034 0.033 0.035
& R | R|E 0.030 0.029 0.034 0.033 0.032 0.030 0.035 0.036 0.037 0.038
£ R &R Fiic] RS 0.030 0.026 0.028 0.028 0.028 0.028 0.031 0.035 0.034 0.036
€ R W& B1E 0.036 0.036 0.037 0.036 0.038 0.033 0.037 0.039 0.040 0.040
£ R ik B1E 0.038 0.035 0.036 0.036 0.036 0.034 0.036 0.037 0.037 0.040
t E |t EBE 0.032 0.032 0.034 0.035 0.035 0.032 0.034 0.036 0.037 0.038
t E ®W|X H|% 0.043 0.041 0.043 0.042 0.042 0.042 0.039 0.039 0.037 0.042
t E W|E B E[X 0.035 0.036 0.037 0.038 0.037 0.035 0.037 0.033 0.039 0.037
t E g & B|X 0.037 0.041 0.043 0.042 0.042 0.039 0.035 0.039 0.035 0.038
AN /N R W|ET 0.032 0.033 0.031 0.037 0.038 0.033 0.035 0.037 0.037 0.038
m B WX B OFHE 0.030 0.030 0.029 0.032 0.035 0.031 0.030 0.032 0.029 0.033
B ¥ R V|7 0.035 0.036 0.037 0.035 0.034 0.037 0.035 0.042 0.042 0.044
B W Bl*x 0.035 0.036 0.036 0.033 0.034 0.036 0.038 0.035 0.038 0.037
B W F1E 0.034 0.035 0.033 0.034 0.033 0.033 0.034 0.038 0.039 0.041
B W s NES 0.033 0.032 0.033 0.031 0.030 0.032 0.030 0.038 0.038 0.037
B £ ™[R E 0.032 0.033 0.034 0.036 0.037 0.033 0.036 0.036 0.039 0.039
b= v P | 1E 0.033 0.031 0.035 0.033 0.033 0.033 0.033 0.035 0.035 0.040
M # RN #E 0.036 0.034 0.036 0.036 0.034 0.035 0.031 0.038 0.039 0.042
HEE TS Bl*x 0.037 0.037 0.037 0.037 0.036 0.038 0.035 0.041
o BE BT Blx 0.043 0.042 0.046 0.045 0.046 0.044 0.046 0.045 0.040 0.041
(10) HieEAXIA U+ (REDBRS 1 BEEDEFHE)
- A 2o BEIDB &S 1BEEOETHIE (opm)
sl [ Epiog | Rt | ERas k| Taisa | Tries | EaaE| Eris e | TRioE | TRoE | TR £
€ R Wm|= BlE 0.046 0.054 0.056 0.053 0.055 0.048 0.050 0.051 0.047 0.047
& R Wm|@E m WME 0.042 0.039 0.041 0.043 0.037 0.037 0.048 0.048 0.047 0.048
€ R W/ I FE 0.043 0.042 0.042 0.039 0.037 0.035 0.042 0.046 0.045 0.045
& R | R|E 0.044 0.043 0.050 0.049 0.046 0.042 0.049 0.049 0.050 0.051
£ R &R Fiic] RS 0.042 0.037 0.039 0.039 0.038 0.039 0.042 0.047 0.046 0.048
£ R W& B1E 0.051 0.051 0.052 0.051 0.052 0.045 0.051 0.053 0.053 0.053
£ R i B1E 0.051 0.049 0.049 0.049 0.050 0.046 0.049 0.050 0.049 0.052
t E |t E|E 0.043 0.043 0.046 0.047 0.047 0.042 0.045 0.048 0.049 0.049
t E WX H|% 0.055 0.054 0.056 0.055 0.054 0.053 0.050 0.050 0.047 0.053
t E W|HE B E[X 0.048 0.050 0.050 0.051 0.050 0.045 0.049 0.044 0.052 0.048
t E mgE &E B|X 0.047 0.053 0.054 0.054 0.053 0.049 0.044 0.050 0.046 0.047
AN /NG R W|ET 0.046 0.047 0.044 0.053 0.054 0.045 0.048 0.050 0.050 0.049
mE WX B OFHE 0.043 0.044 0.043 0.048 0.051 0.045 0.044 0.046 0.042 0.046
B ¥ R |7 0.045 0.047 0.048 0.045 0.044 0.047 0.044 0.052 0.053 0.054
B W |l Bl*x 0.048 0.049 0.048 0.045 0.046 0.047 0.050 0.045 0.050 0.048
B W i F|1E 0.047 0.048 0.045 0.047 0.045 0.045 0.046 0.051 0.053 0.053
B W s I ES 0.045 0.045 0.046 0.042 0.042 0.042 0.041 0.051 0.050 0.048
B £ TR L[ 0.044 0.046 0.047 0.050 0.050 0.044 0.049 0.048 0.052 0.051
b= v P & [1E 0.046 0.045 0.050 0.047 0.046 0.046 0.046 0.049 0.048 0.054
M # RN #[1E 0.049 0.048 0.049 0.050 0.047 0.047 0.042 0.051 0.052 0.055
HEE TS IHES 0.049 0.050 0.049 0.049 0.047 0.049 0.046 0.053
o BE BT Blx 0.054 0.053 0.057 0.056 0.057 0.055 0.057 0.056 0.051 0.051




(1) HeZEAFXLF 2 b (BED 1 EREAO. 12ppmil £ D HH)

—-— A Ag BEID 1R EA0.120pmEL ED BEL (B)
st | o4 | Tt | TRt 14 | TR s | 6 R | E R 74 R | T s | TR0 B | E R 20 B[ 214

£ R W= ElE 0 0 0 0 0 0 0 0 0 0
& R W& m WME 0 0 0 0 0 0 0 0 0 0
€ R W/ I FE 0 0 0 0 0 0 0 0 0 0
& R | ®=[{E 0 0 0 0 0 0 0 0 0 0
£ R m|ER [iic) ke 0 0 0 0 0 0 0 0 0 0
£ R W& B[4 0 0 0 0 0 0 0 0 0 0
€ R m|d B[4 0 0 0 0 0 0 0 0 0 0
t E |t B 0 0 0 0 0 0 0 0 0 0
+ E m|X E=1ES 0 0 1 0 0 0 0 0 0 0
t B W|E # KX 0 0 0 0 0 0 0 0 0 0
t E mWlaE & B|X 0 0 0 0 0 0 0 1 0 0
N T W|ET 0 0 0 0 0 0 0 0 0 0
mE WX B OFHE 0 0 0 0 0 0 0 0 0 0
B ¥ R M7 0 0 0 0 0 0 0 0 0 0
B W 1S 0 0 0 0 0 0 0 0 0 0
B W E[1x 0 0 0 0 0 0 0 0 0 0
B W s NES 0 0 0 0 0 0 0 0 0 0
B £ ™[R FlE 0 0 0 0 0 0 0 0 0 0
EOVE BET)E (1 0 0 0 0 0 0 0 0 0 0
N # ET|R M 0 0 0 0 0 0 0 0 0 0
HEEZHET| S B* 0 0 0 0 0 0 0 1
o BE BT B|*x 0 0 1 0 1 0 0 1 0 0

(12) ZEMFIRYE (FFEHE)

AT B A& £ FE ¥ {E (mg/m?)

wlsl [ Eppiog | Rt | ERas | Taisa | Tries | TaaE| Eris e | TRioE | TRoos | TR £

€ R Wm|= Bl 0.023 0.024 0.021 0.020 0.020 0.021 0.021 0.019 0.020 0.016
& R Wm|@E m WME 0.030 0.024 0.022 0.019 0.020 0.022 0.020 0.017 0.019 0.017
€ R W/ I FE 0.023 0.023 0.020 0.018 0.017 0.019 0.020 0.018 0.020 0.017
& R | R|E 0.023 0.023 0.021 0.021 0.020 0.022
£ R &R [iic) ke 0.026 0.025 0.020 0.019
£ R W& B[4 0.027 0.026
£ R i B1E 0.026 0.025 0.022 0.022 0.021 0.022 0.021 0.019 0.021 0.018
t E |t EE 0.023 0.022 0.020 0.022 0.023 0.025 0.019 0.015 0.019 0.016
+ E w|XK =1ES 0.021 0.020 0.017 0.018 0.018 0.019 0.017 0.016 0.016 0.015
t E W|HE B E[X 0.022 0.022 0.020 0.019 0.018 0.019 0.017 0.017 0.017 0.015
t E mWlaE & BlX 0.020 0.021 0.017 0.016 0.016 0.019 0.016 0.014 0.016 0.015
t E |\ 754 P 0.025 0.024 0.022 0.022 0.022 0.024 0.021 0.021 0.020 0.019
t E T | 0.021 0.020 0.019 0.021
t E mi|fE =] ES 0.021 0.020 0.019 0.019
AN /NG W|ET 0.027 0.025 0.023 0.020 0.019 0.020 0.019 0.017 0.020 0.016
mE WX B OFE 0.025 0.024 0.021 0.021 0.020 0.020 0.018 0.016 0.019 0.016
D) s 1 11 KE 0.023 0.023 0.019 0.018
B e M M| 0.024 0.023 0.020 0.020 0.018 0.019 0.020 0.017 0.020 0.016
B W il Bl*x 0.023 0.023 0.018 0.016 0.015 0.017 0.018 0.018 0.019 0.016
B W e LS 0.024 0.023 0.020 0.020 0.019 0.020 0.018 0.015 0.018 0.016
B W s MES 0.026 0.025 0.022 0.020 0.020 0.023 0.018 0.016 0.019 0.017
B £ ™[R L[ 0.027 0.023 0.024 0.020 0.019 0.019 0.019 0.017 0.019 0.017
b= v P & [1E 0.026 0.024 0.020 0.019 0.019 0.018 0.019 0.019 0.019 0.017
M AT #(1E 0.024 0.023 0.019 0.018 0.019 0.020 0.018 0.018 0.018 0.018
HEEEET| S IHES 0.024 0.024 0.021 0.018 0.019 0.020 0.020 0.020
1 REEET| B Blx 0.021 0.023 0.019 0.018 0.017 0.020 0.017 0.016 0.018 0.016




(13) BRI FRYE (1 BEHEDER 2 %ERIME) (BIEEE - 0. 10mg/m*LLF)
wEr | mem PR 1B EDERI29%BRIME (mg/m°)
Holsk | e g1 osE | 104 | E R 4% | TR 5 | R 6 R | B R AR RS | TR s | E R 04 B | E R0 B | TR 21
& R W= BlE 0.059 0.061 0.062 0.048 0.052 0.056 0.057 0.056 0.051 0.039
& R H|&E m #WE 0.068 0.057 0.056 0.045 0.045 0.058 0.054 0.045 0.047 0.043
& R ml/h I FHlE 0.055 0.056 0.057 0.046 0.046 0.048 0.052 0.055 0.045 0.040
& R w|$ R=[E 0.059 0.062 0.060 0.052 0.052 0.056
& R &R [iic] RS 0.065 0.055 0.055 0.048
& R ™|#&E = RES 0.066 0.059
& R i 1] KE 0.066 0.061 0.059 0.054 0.053 0.057 0.055 0.051 0.049 0.042
t E M|t BE 0.059 0.064 0.054 0.047 0.056 0.067 0.051 0.050 0.046 0.039
t B X 22] S 0.064 0.056 0.055 0.045 0.049 0.059 0.045 0.050 0.041 0.041
t B #|HE # KX 0.062 0.065 0.061 0.046 0.046 0.054 0.045 0.046 0.043 0.037
t B milgE & B|X 0.061 0.059 0.050 0.044 0.046 0.057 0.047 0.053 0.042 0.039
t E |/ 5 | 4E 0.069 0.064 0.069 0.057 0.062 0.079 0.056 0.067 0.054 0.048
t B | NES 0.065 0.060 0.059 0.050 0.054 0.062
t B H|*x 0.058 0.057 0.056 0.047 0.045 0.056
1\ /N 1 IS wlET 0.061 0.059 0.072 0.049 0.051 0.051 0.056 0.048 0.053 0.041
mE WX E OFME 0.063 0.058 0.059 0.048 0.053 0.053 0.051 0.044 0.047 0.039
& | ®|1E 0.060 0.057 0.057 0.044 0.044
B2 IS H PR M| 0.065 0.057 0.052 0.043 0.044 0.050 0.053 0.054 0.045 0.040
B W W Blx 0.055 0.057 0.059 0.042 0.041 0.049 0.047 0.047 0.044 0.037
=T PN ZF[1x 0.060 0.059 0.063 0.048 0.050 0.049 0.053 0.044 0.046 0.039
B W m|E NES 0.062 0.063 0.065 0.048 0.047 0.062 0.048 0.044 0.047 0.038
BE £ | L 0.066 0.058 0.074 0.051 0.050 0.053 0.057 0.051 0.053 0.038
#EOME ET[E & 1E 0.066 0.062 0.061 0.050 0.049 0.042 0.052 0.052 0.046 0.040
M ET|N #[1E 0.064 0.059 0.051 0.046 0.048 0.046 0.045 0.051 0.045 0.041
FREEETS I=HES 0.063 0.063 0.057 0.045 0.048 0.057 0.052 0.057
R B ET|RE B|x 0.063 0.061 0.057 0.045 0.048 0.063 0.050 0.052 0.045 0.041
(14) FEAZ VpdbkFE (FEFHE)
— D A& £ F 5 f{E (ppmC)
Motk | e g1 o4E | 104 | E R 4% | TR 5 | 6 R | B R 4R R | TR s | E R 0 B | E R0 B | TR 21
& R W= BlE 0.13 0.11 0.12 0.12 0.11 0.12 0.12 0.11 0.12 0.10
t E WX H|x 0.08 0.06 0.08 0.10 0.06 0.04 0.06 0.05 0.05 0.07
n# AN |1 0.13 0.10 0.10 0.07 0.09 0.07 0.10 0.10 0.09 0.07
(15) A2 vikibkFE 6~EFICHITHFEFHIE)
HET AT A& 6~9RFIZHITEHETFHE (ppmC)
Holsl | e g1 o4E | a4 | E R4k | TR 5 | 6 R | B R AR RE| TR s | E R 0 B | E R0 B | TR 21
& R W= BlE 0.13 0.12 0.12 0.13 0.12 0.13 0.13 0.12 0.13 0.11
t E mW|X H|x 0.09 0.07 0.09 0.11 0.06 0.05 0.07 0.06 0.06 0.07
n# AN |1 0.16 0.14 0.12 0.10 0.12 0.10 0.12 0.12 0.11 0.08
(16) A2 > (FFHE)
HET WD A& £ F 5 f{E (ppmC)
Motk | e g1 osE | 1o | ER 144 | R 5 | R 6 B | B R AR RS | s | E R 0 B | B R0 B | TR 21
& R W= BlE 1.86 1.87 1.87 1.88 1.88 1.90 1.90 1.91 1.95 1.94
t E WX H|x 1.80 1.78 1.78 1.80 1.80 1.82 1.82 1.82 1.84 1.85
n# AN |1 1.85 1.84 1.85 1.88 1.87 1.87 1.88 1.88 1.89 1.90
(a7 #ZxieKkFE (EFHE)
— AEE A& £ F 5 f{E (ppmC)
Motk | e g1 o4E | 104 | TR 4% | TR 5 | 6 B | B R AR RS | s | E R 0 B | E R0 B | TR 21
& R W= BlE 1.99 1.98 1.98 2.00 1.99 2.01 2.03 2.02 2.06 2.04
t E mW|X H|x 1.88 1.84 1.86 1.90 1.86 1.87 1.88 1.88 1.89 1.92
n# AN i [ 1.98 1.95 1.95 1.95 1.96 1.95 1.98 1.98 1.98 1.97




4 BYPEBHARHEROFRATHEROEFEL
() ZEAEZER (FTHIE)

T B A& £ F B & (ppm)
sk | o4 e | Erv1a | TRt 14 | TR s | 6 R | E R 74 B | T s | TR 04 B | E R0 B[ 214
& R (B & |/& 0.036 0.036 0.034 0.032 0.033 0.037 0.033 0.034 0.031 0.027
£ R Wm(EA B |[& 0.034 0.031 0.034 0.038 0.041 0.039 0.037 0.033 0.032 0.032
& R Wm|(E)E I (T 0.026 0.026 0.030 0.032 0.026 0.025 0.026 0.023 0.022 0.020
£ R W[(EER 71 & 0.026 0.025 0.023 0.023 0.025 0.025 0.022 0.022
B2 HmBET[(EDEF A [1F 0.030 0.034 0.033 0.033 0.030
2 ZBIEEZE (1 HEHEDEREISWIE) (GREEEAE - 0. 04ppm~0. 06ppmLATF)
- AEB A& 1B X EDFREI8%IE (ppm)
sk | o4 | T st | TR 14 | TR s E | 6 R | E R 74 R | T 1s | TR 04 B | E R0 B[ 214
& R (B & |/ 0.052 0.055 0.050 0.048 0.050 0.052 0.051 0.048 0.048 0.041
£ R Wm(BE)A B |[& 0.052 0.048 0.051 0.060 0.063 0.054 0.052 0.048 0.048 0.047
& R Wm|(E)E I (T 0.041 0.044 0.048 0.050 0.041 0.041 0.041 0.038 0.039 0.036
£ R W[(EER 71 & 0.040 0.036 0.034 0.035 0.037 0.038 0.035 0.033
B2 HET[(EDEF A [1F 0.048 0.054 0.054 0.056 0.054

Q) —FILER (FTHIE)

HET BB A& £ F B & (ppm)
IS | s g1 048 B | E Rt 34 | TR a4E B | E R 54 RE | TR 64 BE | R 74 RE | TR 84 B | A1 94 B | TR 204E B | E A1 S E
£ R mEX & (& 0.064 0.065 0.060 0.056 0.058 0.057 0.050 0.047 0.040 0.028
£ R Wm[(BE)A B |[@& 0.064 0.059 0.066 0.077 0.082 0.072 0.063 0.050 0.044 0.041
& R Wm|(E)E I [T 0.020 0.019 0.019 0.024 0.018 0.016 0.016 0.013 0.013 0.011
€ R W[(EDER 71 & 0.022 0.022 0.019 0.020 0.024 0.021 0.019 0.018
B2 HmBET[(EDEF A [1F 0.042 0.035 0.030 0.029 0.024

(4) ZFBY (FEFLHIE)

HET BB A& £ F B & (ppm)
ik | o4 | Erv1a | TRt 14 | TR s | 6 R | E R 74 R | T s | TR 04 B | E R0 B[ 214
& R (B & |/& 0.100 0.102 0.094 0.088 0.091 0.093 0.083 0.081 0.070 0.055
£ R Wm(BE)A B |[& 0.098 0.090 0.100 0.115 0.123 0.111 0.100 0.083 0.076 0.072
& R Mm|(E)E I [T 0.046 0.045 0.049 0.056 0.043 0.041 0.041 0.036 0.035 0.031
& R W|{(E)ER 71 (P 0.047 0.047 0.042 0.043 0.049 0.046 0.041 0.040
B2 mBET[(EDEF A [1F 0.073 0.069 0.063 0.062 0.053

() —EfbRE (FFHE)

HET BB A& F F ¥ {E (ppm)
sk | o4 e | Tt | TRt 14 | TR s | 6 R | E R 74 B | T s | TR0 B | E R0 B[ T2 14
£ R mEX & (& 15 1.1 0.8 0.8 0.9 0.9 0.8 0.8 0.7 0.6
£ R Wm(EA B |[& 21 1.3 16 1.7 14 1.2 1.1 1.0 0.9 0.9
& R Wm|(E)E I (£ 05 05 05 05 05 05 05 04 0.4 04
& R Wm|{(E)ER FI | 0.7 0.7 0.7 0.7 0.6 0.6 05 05
N mEN B |E 0.5 0.5 0.5 0.5 04 04 04 0.4 0.3 0.3
B2 HmET[(EDEF A [1F 0.8 0.7 0.7 0.7 0.6 0.6 0.6 0.5 0.5 0.4
6) —E&ibixF (1 BEHEDER 2 %ERIME) GRIBEX . 10ppmLLTF)
T AEB A& 1B FHEDOER2%BRSME (ppm)
ik | 104 e | Tt | TRt 14 | TR s E | 6 R | E R 7R R | T s | TR 04 B | E R0 B[ 214
£ R mEX & (& 25 20 1.9 14 14 14 1.2 1.1 1.0 1.1
£ R Wm(EA B |[& 34 26 29 26 2.1 1.9 1.7 14 1.2 14
& R Mm|(E)E I (£ 10 038 038 0.9 08 08 08 0.7 06 06
& R Wm|{(E)ER 71 |5 1.1 1.1 1.1 1.1 1.0 1.0 08 08
N mEN B |E 1.0 0.8 0.9 0.8 0.7 0.7 0.7 0.6 0.5 0.5
B2 mBT[(EDEF A [1F 14 1.1 10 10 10 0.9 0.9 0.8 0.7 0.7




(D) ZFwhFRYE (FFHE)

— axs | PE FELHE (mg/m)
Wil | o | Tasa | TRiasE | TRisE | Taies | TaraE | EaesE | Eaos | Eacos | Erois
& R (B & |/& 0.026 0.023 0.024 0.026 0.024 0.024 0.021 0.016
£ R Wm(BE)A B |& 0.030 0.031 0.027 0.027 0.025
€ R M|k I |#ET 0.023 0.024 0.022 0.018 0.020 0.017
€ R W[(EER 71 & 0.030 0.030 0.028 0.027 0.025 0.020 0.020 0.019
B2 mBET[(EDEF A [1F 0.026 0.026 0.023 0.024 0.019

(8) FiEMFAYME (1B FHEDERE 2 %RIME)

(BBIEE - 0. 10mg/m LLF)

_— o = 1B EHEDERE2%IME (mg/m®)
S | o | R | Fanamm | Fausas | Favems | T | Taisas | TaogE | FRooEE | FRIEE
& R m[(EH B & 0.061 0.048 0.052 0.062 0.056 0.058 0.050 0.037
£ SR wmlEay B (& 0.059 0.065 0.058 0.058 0.058
& R H|(EEE I [#X 0.052 0.056 0.058 0.051 0.045 0.042
& R H|(E)ER F1 |F 0.068 0.062 0.071 0.057 0.063 0.052 0.048 0.049
B4 hET|(B)EF A |1E 0.059 0.062 0.059 0.052 0.044
(9) A2 vikibKkFE (FEFHIE)
oy s | PR FEFH{E (ppmC)
S | o | Eavomm | Fanamm | Fausa | Favems | T | Taisak | TaogE | FRooEE | FRIEE
& R fmE)H B & 0.50 0.53 0.56 0.55 0.58 0.42 0.31 0.30 0.25 0.16
(10) A2 vimibKkFE 6~BFICHEITHFEFHIE)
oy s | AR EEH{E (ppmC)
ol | ot | RIS | FRAEE | PRUSERE | AR | TRITERE| PRISERE | FRI0EE| FR20EE| FR21EE
& R fmE)H B & 0.41 0.45 0.43 0.48 0.49 0.37 0.27 0.26 0.21 0.14
() A2y (FFHIE)
oy s | AR FEFEH{E (ppmC)
S | sprgiom | Eauomm | Fanamm | Fausas | Favems | T | TaisaE | TaogE | FRooEE | FRIEE
& R fml[E)H B & 1.92 1.93 1.95 1.98 2.01 1.92 1.88 1.89 1.89 1.89
(12) ZxibKkFE (EFHE)
oy s | PR FEEH{E (ppmC)
ol | ot | RIS | FRuAEE | PRUSERE | AR | TRITERE| PRISERE | FRI0EE| FR20EE| FR21EE
& R fmE)H B & 2.41 2.45 2.51 2.53 2.60 2.34 2.19 2.19 214 2.06
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